species

PC 2 (30.1 %)

PC 2 (30.1 %)

4000

2000

-2000

-4000

2000

1000

-2000 -1000

-3000

Scores Plot
0
o1
OHeaIthyG
II;i]ealthy&
Yégﬁhw
O Healthy. OSeCCll
oscc1§%@§§2§/fo
Healthy9
0scC2
Q osces
0SCCh
O Healthy2 %%S%%C;g
Qoscer
T T T
-5000 0 5000
PC 1(63.4 %)
Scores Plot
e 0
o1
OHeaIthy6
Healthy8
OHeaICtayllh
Healthy5
O ¢ Hgalthy7
OHeaIthyA OSCCL
osccm?%%‘é?
ealthy10
Healthy9
Qosce2
Qoscces
Qosces
0SCC8
Qosces
OHeaIthyZ OOSCC9
Qoscer
| I | T | f
-8000 -6000 -4000 -2000 0 2000

PC 1(63.4 %)




species

0.0

Loadings 2

hol

OTAG 5430 S
TAG 5230
OTAG 5226’0ATAG 5020 0 PC 1600_1600
o PC 1600_1810
ocC
) Y ¥ ,
< o~ ) ~
Q@ @ o S

Loadings 1



species

eeeeee

ealthv6
3 a
e 7
‘ \ \ \Heahys OSCL10
calth He

3000 “ i\ I, Yo @ Croup
“ ‘ sss okes 9 Group
2250 ¢ “‘“‘.gm\nlll
150 ‘ ' ealfly 1080 OFC 1000
2 ‘ (77 777 77 Jrs0
x 750 L L 77 7 7 7 @bssp 500
D ? A / fsc 250
N 750 VAVAVAY,
]
1500
2250 ‘ ""'
"""' 1000
883829 9o o
$S2888888°8
PC (‘é’s.zi\'o/)" 2

O

<>




species

PsCC2
ISCC3
(elel}

SCC8
SCC2

O k 0002

000}

Koo
Hgalthy9

-

ealthy7

. ealthly8

e wwi

SCC ‘C

ettt
05C¢10

1] 0001~

Healthy1

Hrr{[] 000¢-

Hedjthy4

Hedlthy6@

000¢-

0001~

0006~

0009-

Z 7
va

7
Z 7 7
7

0004-

7

Z Z 7

Z 7 7

AV

0GZE “ 0005 0522 0051057

1
0 052 00ST- 0522 000¢-

(%1°0g) 2O

(%1°0¢) z2od
o
re]
I3
-
/ / / __ \ \ \ \ (=
AN AN AV T T 7 7 7 (=
AN AN A} 1 T 7 7 Z o
AN AN \ 1 1 JA yA -~
\; \ t 1 / ya ;
= iy Y F s ya '\U
X \ i 7 7 o
B) 0
3 n ~
o Q 8] M
~T 73] 4
g 8 il s
D Q (1% 0
> M1 o
S A 2.1 Ire)
: o
e |® ep °
© % T o
£ |25 308 S
= [= 4 £ 0 o
o T (D M
® L T
7] ow i 8
S
Tan]
OS2 L]
S g Y
Slmh 3
@ N
T T
"N
nIEEES
N N [ 2
|
0SZ€000€05¢C005105. 0 P 0SZ- 0051052y N
o] o _
4.
d

Y \omrm.@m
v

(63.4%)

1

P C

(3.4%)

PC3

()]
D
VA \ — __
Z yA 7 I
L L T
/ [ T
VA 7 T T
80 90 ¥0 <¢0 0 AV 2(E
¢ Bbuipeonq
N\ AN \ \ ] / / /
AN AN \ 1 1 A VA Z
AN AN \ 1 T 7 7/ VA )
AN AN \ 1 T 7 / VA
AN AN \ 1 T JA yA Z » |
AN AN \ 1 1 JA yA VA
// // / _— _- \ \\ \\
W]
»
O 1
A 4 » "
@ ( 5
1
\\\
o \\\\\ N
I//IU_
N N
ks
//// '
////U_
80 90 ¥0 ¢0 0 <O VO 90 80 éf/
\Q. u N
¢,
Z Buipeon %, 4

o

Loading 3

1

Loading



